
$ gcc -g ex01.c -o ex01
$ gdb ex01
GNU gdb (Debian 10.1-1.7) 10.1.90.20210103-git
Copyright (C) 2021 Free Software Foundation, Inc.
License GPLv3+: GNU GPL version 3 or later <http://gnu.org/licenses/gpl.html>
This is free software: you are free to change and redistribute it.
There is NO WARRANTY, to the extent permitted by law.
Type "show copying" and "show warranty" for details.
This GDB was configured as "x86_64-linux-gnu".
Type "show configuration" for configuration details.
For bug reporting instructions, please see:
<https://www.gnu.org/software/gdb/bugs/>.
Find the GDB manual and other documentation resources online at:
    <http://www.gnu.org/software/gdb/documentation/>.

For help, type "help".
Type "apropos word" to search for commands related to "word"...
Reading symbols from ex01...
(gdb) list 39,46
39
40 void vAfegeixIva(double *lf,int nMida,double lfIva){
41 int i;
42
43 for(i = 1; i < nMida; i++, lf++)
44 *lf = *lf * (1. + lfIva / 100.);
45 }
46
(gdb) break 44
Breakpoint 1 at 0x12ac: file ex01.c, line 44.
(gdb) run
Starting program: /home/jordi/Documents/escolaClot/curs2020-2021/m03/daw/20210427ex/20210427_sol/ex01 

---------------
vVisualitzaVector:
lfVector: { 2.34 4.56 -3.45 10.00 9.87 1.32 -1.27  }
1) El valor màxim del vector és 10.00
2) El valor màxim del vector és 10.00

Breakpoint 1, vAfegeixIva (lf=0x7fffffffdcb0, nMida=7, lfIva=21) at ex01.c:44
44 *lf = *lf * (1. + lfIva / 100.);
(gdb) print *lf
$1 = 2.3399999999999999
(gdb) next
43 for(i = 1; i < nMida; i++, lf++)
(gdb) next

Breakpoint 1, vAfegeixIva (lf=0x7fffffffdcb8, nMida=7, lfIva=21) at ex01.c:44
44 *lf = *lf * (1. + lfIva / 100.);
(gdb) print *lf
$2 = 4.5599999999999996
(gdb) next
43 for(i = 1; i < nMida; i++, lf++)
(gdb) next

Breakpoint 1, vAfegeixIva (lf=0x7fffffffdcc0, nMida=7, lfIva=21) at ex01.c:44
44 *lf = *lf * (1. + lfIva / 100.);
(gdb) print *lf
$3 = -3.4500000000000002
(gdb) quit
A debugging session is active.

Inferior 1 [process 110340] will be killed.

Quit anyway? (y or n) y


